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QUESTION 1

All of the following are valid Pega 7 property types EXCEPT:
A. Date

B. Text

C. String

D. Decimal

Correct Answer: C

QUESTION 2

Which Decision rule type is best used to handle nestd "if* conditions?
A. Data transform

B. Decision Tree(Missed)

C. Decision Table

D. When rules

Correct Answer: C

QUESTION 3

The class layer that creates a reusable class structure that can be extended for specific implementations is called which
of the following? (Choose One)

A. Framework layer

B. Work layer

C. Implementation layer
D. Top layer

Correct Answer: A

QUESTION 4
Which is the best way to cache data from external system

A. Data Transform
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B. Data Table

C. Data Page
Correct Answer: C

QUESTION 5

In the following example, the Declarative Rules Inspector is enabled, and a "D" appears next to the value for the Rate
property, which is calculated with a Declare Expressions rule named Rate.

Loan Type Auto Loan Terms 3 years

Amount 517,000,00 Rate 6§70% O

What happens when you click the "D"? (Choose One)

A. Nothing. The D is only an indicator, with no action associated with it
B. PRPC opens the Rate property rule

C. PRPC opens the Rate Declare Expressions rule

D. PRPC opens the Dependency Network for Rate

Correct Answer: D
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